Ef-TEBRRAREE-—ER SM74E5H29 A BE
XEEE FHMHMAITRE
T I T X AR ]
sEEh — R X8 JL &
MRTMEEEEHT- M | TR - 1AT
*7 GRKE) |REmEEiEE [16
(TMKRE) |LIEREEREE [121
J\FHJI5E=5.2, ABEIFE=6.9, FEHA)IFE=8.5, #&)5E5=108,
FFRsE=4.9, EIIFRE=5.9, FR)IFE=4.2, KB)IIFiE=4.2,
FRIBRSEHELE MRIRE=128, F0)I5E=8.7, F2)IFHE=6.5 HAFR)IHE=7.7,
SR )Ifig=105, FIERNGRE=17.6, BEF)IIiRi%=56,
123)1FE=4.8, FRE)IFRE=7
#K B B )11 ds= (6, 38.5), FEMRJIIFE=(6, 7.6), H)IIFk=(6, 9.7),
e FHI)GRIE=(6, 3.6), KHEJIIFREE=(6, 3.7), FHEIIRiH=(6, 5.8),
== HBR)FRE=(14, 57), 5&2)IIFE=(6, 10),
BEgp P2 E=(6, 15.8), BEIIFBE=(12, 45), F&8H)IFiE=(6, 4)
FETE Ik T #R R
o bR BRIITHRfERL]
i 5 fE 20m/s
A FRRRE fi: 25m/s
= - > fE 20m/s EEHES
RS FERE B 25m/s EEMED
= = () %2 EFiﬂl 1ZE§FEﬁB§Z'EE§o);¥é35cm
= RROFS T 2B BB E O E450m
KR BEKS 6.0m
=i ki 1.0m
x7 rEREEHEE |8
TIEREEHEE |86
J\F I FRE=4.2, ABEE)IFE=55 FHE)IFRE=6.8, #&)5E=8.,
FNFRE=3.8, FEIFRE=4.7, FAN5R18=3.3, KEA)IIFE=3.3,
FRIBRESEHELE MRIIGRE=102, /30)115E=6.9, FZ)IFHE=5.2, AFR)7EHE=6.1,
E5REB)fig=84, FEZNFE=14, SEF)RE=4.4, BHIFE=3.9,
B R)IRiE=5.6
w B RJIFE=(5, 24.3), \F#)IIFE=(7, 4.1), ABXJIIFE=(6, 44),
#K R IFE= (5, 65), 8)IFE=(5 86), F)IFE=(5 38),
e &)IRig=(6, 3.8), FA/IGRIH=(6, 2.6), KHIljiE=(5 32),
= MRINFRE=(5, 10.2), ABJIIFRE=(5, 4.8), FBZIIFE=(6, 4.2),
HBANGRE=(5 5.1), 5RINIFE=(5, 84), FIEE)IFE=(5 14),
BEIRE=(7, 4), BHNIFRE=(5, 3.6), FFRIIIRiH=(6, 45)
YRR AR F 8] e rym
ok B BAEBIITHRfERL]
W . fEE 12m/s
SR JE EHRE B 5m/s
= b 1 < Rt 12m/s FBFH#S
ARHE|RE FHRE B Tom/e BEES
= = 7y E iy 1205 RIFEE DiFES15cm
AE REORS i3 125 R E D F20cm
KR e 3.0m
=i AL 0.7m
ES FEFICFYEENTEINDSE
BE
8 5= a fE L 100m
p-—1 1Rig B 500m
225 BINTE40% TEMZET0%
Bh OEEDFES40cmLL LHYBE DFEE30cmbl £
- QHEEDFEEI0cmLL EHYBERBICLUEEINEYDIERF
EiE BIESE-4CUT "
= BBECIYREDIELLVEZEORENFEINSIZEET
= BEAMIZEREREMNICUTICHSETEENSIEE
Bk
. 24B5 B EDFEES:30emil b
== fiR:0°C~3°C

REHEREARER

o

[90mm

REWEBEY RETEER A EICLSREEERLTVET.
*? SRIFEEEIMEBS R B RFTOME,
P SR ERESIIESRERFTOE.



